NMPDE’s
Borja Regulez Pérez
Lab 01: Scalar equations:

Given Xp, Yp, X, Ya, and R, find 6 such that:
T,sinf —y, cosf T, sinf —y, cost

6) = = + = 0.
19) V(Rcosf —z,)? + (Rsinf —y,,)? \/(RCOSO—IQ)2+(RSin0—yQ)2

To accomplish this task a Bisection-Secant hybrid method has been applied. Ir has been programmed
using the Matlab software (code is included in the zip file).

The following graphs show the iterations to achieve the solution for different values of X, Vp, Xa, Ya,
and R.

The tolerance considered has been 10e-5 in f and 10e-5 in 6. The minimum increment in 6
considered in an interation is 10e-32.

The points x0 and b are the starting points, and they have been chosen so that f(x0)*f(b) < O
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